

3. pshinta  
1/1/132  
-1-

①  $\int_0^{\sqrt{3}} x \cdot \arctg(x) dx = \left| \begin{array}{l} f(x) = \arctg(x) \rightarrow f'(x) = \frac{1}{1+x^2} \\ g'(x) = x \rightarrow g(x) = \frac{x^2}{2} \end{array} \right| \text{ PP} = \left[ \frac{x^2}{2} \cdot \arctg(x) \right]_0^{\sqrt{3}} - \int_0^{\sqrt{3}} \frac{x^2+1-1}{1+x^2} dx =$

$= \frac{1}{2} \cdot \frac{3}{2} - \frac{1}{2} \int_0^{\sqrt{3}} \left(1 - \frac{1}{1+x^2}\right) dx =$

$= \frac{3}{4} - \frac{1}{2} \cdot \left[ x - \arctg(x) \right]_0^{\sqrt{3}} = \frac{3}{4} - \frac{1}{2} \left[ \sqrt{3} - \arctg(\sqrt{3}) - 0 + \arctg(0) \right] =$

$= \frac{3}{4} - \frac{1}{2} \left( \sqrt{3} - \frac{\pi}{3} \right) = \frac{3}{4} - \frac{\sqrt{3}}{2} + \frac{\pi}{6} = \frac{2}{3} \pi - \frac{\sqrt{3}}{2}$

$\arctg(\sqrt{3}) = \frac{\pi}{3} \Leftrightarrow \text{tg}(y) = \sqrt{3} \stackrel{!}{=} \frac{\sin(y)}{\cos(y)} = \frac{\frac{\sqrt{3}}{2}}{\frac{1}{2}} = \frac{\sqrt{3}}{1} = \frac{\sqrt{3}}{1}$

$\Leftrightarrow y = \frac{\pi}{3}$

②  $\lim_{n \rightarrow \infty} \frac{1^{\frac{1}{n}} + e^{\frac{1}{n}} + \dots + n^{\frac{1}{n}}}{n^{\frac{1}{n}+1}} = \lim_{n \rightarrow \infty} \frac{\sum_{k=1}^n k^{\frac{1}{n}}}{n^{\frac{1}{n}+1}} = \lim_{n \rightarrow \infty} \sum_{k=1}^n \frac{1}{n} \cdot \left(\frac{k}{n}\right)^{\frac{1}{n}} =$

$= \left| \begin{array}{l} \text{LIP: } x_k = a + \frac{b-a}{n} \cdot k \\ \int_a^b f(x) dx = \lim_{n \rightarrow \infty} \sum_{k=1}^n f(x_k) \cdot \frac{b-a}{n} \end{array} \right. \left. \begin{array}{l} \frac{b-a}{n} = \frac{1}{n} \Rightarrow b-a=1 \Rightarrow \text{w\u00e4hle: } a=0, b=1 \\ x_k = 0 + \frac{1-0}{n} \cdot k \\ x_k = \frac{k}{n} \Rightarrow f(x_k) = x_k^{\frac{1}{n}} \end{array} \right| =$

$= \int_0^1 x^{\frac{1}{n}} dx = \left[ \frac{x^{\frac{1}{n}+1}}{\frac{1}{n}+1} \right]_0^1 = \frac{1-0}{\frac{1}{n}+1} = \frac{1}{\frac{1}{n}+1}$

③  $\lim_{x \rightarrow \infty} \frac{\left( \int_0^x e^{t^2} dt \right)^2}{\int_0^x e^{2t^2} dt} \stackrel{\text{L'H\u00f4pital}}{=} \lim_{x \rightarrow \infty} \frac{2 \cdot \left( \int_0^x e^{t^2} dt \right) \cdot \left( \int_0^x e^{t^2} dt \right)'}{\left( \int_0^x e^{2t^2} dt \right)'}$

$= \lim_{x \rightarrow \infty} \frac{2 \cdot \int_0^x e^{t^2} dt \cdot e^{x^2}}{e^{2x^2}} = 2 \cdot \lim_{x \rightarrow \infty} \frac{\int_0^x e^{t^2} dt}{e^{x^2}} \stackrel{\text{L'H\u00f4pital}}{=} 2 \cdot \lim_{x \rightarrow \infty} \frac{e^{x^2}}{e^{2x} \cdot 2x} = 0$

④  $\lim_{\epsilon \rightarrow 0^+} \int_{\epsilon}^{2\epsilon} \frac{e^x}{x} \sin x dx$  pomocí 1. věty o střední hodnotě

$f(x) = e^x$  ... integr., metód. má  $\langle \epsilon; 2\epsilon \rangle \checkmark$

$g(x) = \frac{\sin x}{x}$  ... spoj.  $\Rightarrow$  integr.  $\checkmark$  (má  $\langle \epsilon; 2\epsilon \rangle$ )

$\inf_{\langle \epsilon; 2\epsilon \rangle} g(x) = \frac{\sin(2\epsilon)}{2\epsilon}$  ;  $\sup_{\langle \epsilon; 2\epsilon \rangle} g(x) = \frac{\sin(\epsilon)}{\epsilon}$

$\Rightarrow \exists \mu \in \left\langle \frac{\sin(2\epsilon)}{2\epsilon} ; \frac{\sin(\epsilon)}{\epsilon} \right\rangle$   $\forall \epsilon, \exists \epsilon$

$\int_{\epsilon}^{2\epsilon} fg = \mu \cdot \int_{\epsilon}^{2\epsilon} e^x dx = \mu \cdot [e^x]_{\epsilon}^{2\epsilon} = \mu \cdot (e^{2\epsilon} - e^{\epsilon}) = \underbrace{\mu}_{\mu(\epsilon)} \cdot e^{\epsilon} (e^{\epsilon} - 1)$

$\frac{\sin(2\epsilon)}{2\epsilon} \leq \mu(\epsilon) \leq \frac{\sin(\epsilon)}{\epsilon}$

$\lim_{\epsilon \rightarrow 0^+} \frac{\sin(2\epsilon)}{2\epsilon} = 1$  ;  $\lim_{\epsilon \rightarrow 0^+} \frac{\sin(\epsilon)}{\epsilon} = 1$

$\Rightarrow \lim_{\epsilon \rightarrow 0^+} \mu(\epsilon) = 1$

$\Rightarrow \lim_{\epsilon \rightarrow 0^+} \int_{\epsilon}^{2\epsilon} f(x)g(x) dx = \lim_{\epsilon \rightarrow 0^+} \mu(\epsilon) \cdot e^{\epsilon} (e^{\epsilon} - 1) \stackrel{\text{VÖHL}}{=} \lim_{\epsilon \rightarrow 0^+} \mu(\epsilon) \cdot \lim_{\epsilon \rightarrow 0^+} e^{\epsilon} (e^{\epsilon} - 1) =$

$= 1 \cdot e^0 \cdot (e^0 - 1) = 1 \cdot 1 \cdot 0 = \underline{\underline{0}}$